Voltage and Current Readback for Module #173 Channel 00 Stability Test
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Voltage and Current Readback for Module #173 Channel 01 Stability Test
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Voltage and Current Readback for Module #173 Channel 02 Stability Test
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Voltage and Current Readback for Module #173 Channel 03 Stability Test
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Voltage and Current Readback for Module #173 Channel 04 Stability Test
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Voltage and Current Readback for Module #173 Channel 05 Stability Test
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Voltage and Current Readback for Module #173 Channel 06 Stability Test
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Voltage and Current Readback for Module #173 Channel 07 Stability Test
756.6340
400

756.5863

756.5387

<
—
et
=
il
-
-
—
)
Y
[
[1%]
e]
=
[13]
[4F]
o
U
c
=
[1%]
L
[

756.4910
1499.5500 1499.6383 1499.7267 1499.8150

Channel Readback Voltage [V]




Voltage and Current Readback for Module #173 Channel 08 Stability Test
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Voltage and Current Readback for Module #173 Channel 09 Stability Test
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Voltage and Current Readback for Module #173 Channel 10 Stability Test
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Voltage and Current Readback for Module #173 Channel 11 Stability Test
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Voltage and Current Readback for Module #173 Channel 12 Stability Test
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Voltage and Current Readback for Module #173 Channel 13 Stability Test
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Voltage and Current Readback for Module #173 Channel 14 Stability Test
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Voltage and Current Readback for Module #173 Channel 15 Stability Test
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Voltage and Current Readback for Module #173 Channel 16 Stability Test
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Voltage and Current Readback for Module #173 Channel 17 Stability Test
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Voltage and Current Readback for Module #173 Channel 18 Stability Test
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Voltage and Current Readback for Module #173 Channel 19 Stability Test
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Voltage and Current Readback for Module #173 Channel 20 Stability Test
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Voltage and Current Readback for Module #173 Channel 21 Stability Test
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Voltage and Current Readback for Module #173 Channel 22 Stability Test
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Voltage and Current Readback for Module #173 Channel 23 Stability Test
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Voltage and Current Readback for Module #173 Channel 24 Stability Test
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Voltage and Current Readback for Module #173 Channel 25 Stability Test
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Voltage and Current Readback for Module #173 Channel 26 Stability Test
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Voltage and Current Readback for Module #173 Channel 27 Stability Test
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Voltage and Current Readback for Module #173 Channel 28 Stability Test
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Voltage and Current Readback for Module #173 Channel 29 Stability Test
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Voltage and Current Readback for Module #173 Channel 30 Stability Test
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Voltage and Current Readback for Module #173 Channel 31 Stability Test
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Voltage and Current Readback for Module #173 Channel 32 Stability Test
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Voltage and Current Readback for Module #173 Channel 33 Stability Test
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Voltage and Current Readback for Module #173 Channel 34 Stability Test
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Voltage and Current Readback for Module #173 Channel 35 Stability Test
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